25.8% of the working population in Wales suffers from unemployment
. 
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Currently, the reason the government is facing unemployment is because of disequilibrium unemployment
. equilibrium is w1 L1, unemployment is shown by BA. 

The reason that the average wage rate is above the equilibium
 wage rate is because there has been a fall in the aggragate demand for labour
 and no change in wages, or an increase in the aggregate supply of labor
 with no change in real wages. In order to solve unemployment, the Wales government will have to pursue both demand side policies
 as well as supply side policies
. 

[image: image2.png]sealwage
sate

A2
ol Agd
oL

Ag
DaL

Iabor
farce




To cure unemployment, the government can try to increase the demand for labor. For example, at this moment the wales government is trying to “"cut red tape" for small businesses to allow them to create more jobs” In doing so, it would shift aggragate demand for labor to the right, and at the same real wage rate decrease unemployment. 

[image: image3.png]sealwage
sate

Ags
oL

Ag
DaL

Iabor
farce



The government can also try to increase the supply for labor. In some instances, the reason unemployment exists is because people are not trained for the necessary fields are there are barriers that stopped them from being employed. (having to relocate to work, dealing with child care, being a couple.) Currently, the Wales government is trying to "tailor" the assistance given to jobseekers so they receive the support needed to find "proper, permanent work".”. This would increase the supply of labor, and, shift supply to the right and thus decrease decrease unemployment.

Evaluating the actions the government can take in order to reduce unemployment, the government has to careful with the policies they decide to adapt. It is hard to determine how to ‘cure’ unemployment, because there are different views as to how it caused. Keynesians believe that wages are sticky downwards
and thus they need government intervention. However, monetarists believe that the market will work, and that the reason it doesn’t work is due to the barriers in the market, such as unions, minimum wage rates, and will intervene using market approaches. Because two views exist, two different methods of dealing with unemployment also exists which can lead to contradictions and more problems, if not dealt with. 

There is also the fact that unemployment cannot be dealt with completely. While the economy can reach full employment
, there will always be voluntary unemployment
. To best explain this, the diagram below is used.
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LF is the full labor force. However, the supply of labor is less then the full labor force, at S. This is due to the fact that there are those who are unwilling to work at the going wage rate. The gap in between is called those who are voluntarily unemployed. While this is not always a bad thing, it is still best for the government to keep in mind that they will never have a labor force which is 100% employed. 
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� Those who are willing and able to work but do not have a job.


� The unemployment when the real wage rate is above the equilibrium level. 


� When aggragate demand for labor equals the aggregate supply for labor. 


� The total demand for labor in an economy. 


� The total supply for labor in an economy. 


� Policies that work in order to increase or decrease demand.


� Policies that are in order to increase or decrease supply. 


� Wages don’t tend to fall


� When those who are willing and able to work at the going wage rate are all working. 


� Those who are still unemployed even after full employment. 
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